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1.You model a second SAP BW/4HANA CompositeProvider to integrate tables from an SAP HANA 
database schema with an existing SAP BW/4HANA CompositeProvider. 
What must you do first? 
A. Set The CompositeProvider Can Be Added to Another CompositeProvider flag. 
B. Assign consumption properties to the new SAP HANA calculation view. 
C. Connect an export DataSource from the exisiting CompositeProvider to the new CompositeProvider. 
D. Create an Open ODS view with consumption properties to consume the data in the SAP BW/4HANA 
schema. 
Answer: A 
 
2.Which reporting object do you use to combine data from different SAP BW InfoProviders? 
A. BW query 
B. Analysis workbook 
C. DataProvider 
D. Analysis view 
Answer: B 
 
3.Which layers are part of the layered scalable architecture for SAP BW/4HANA (LSA++)? Note: There 
are 2 correct answers to this question. 
A. Open Operational Data Store 
B. Native SAP HANA data mart 
C. Virtual data mart 
D. Source system 
Answer: A,C 
 
4.For which business requirements do you suggest an SAP BW/4HANA modeling focus rather than an 
SAP HANA modeling focus? Note: There are 2 correct answers to this question. 
A. Report on a harmonized set of master data. 
B. Load snapshots or deltas on a periodic basis. 
C. Use existing HANA content models. 
D. Leverage SQL in-house knowledge. 
Answer: C,D 
 
5.Which settings can you define in a data transfer process (DTP) if you load data into a DataStore object 
(advanced)? Note: There are 3 correct answers to this question. 
A. Extraction mode 
B. Error handling 
C. Activation handling 
D. Data tiering 
E. Semantic groups 
Answer: A,B,E 
 
 


